EE334 Computer Architecture
Spring 2004

Homework
Due: April 23, 2004

If the code, shown on the right, loops for 1000 times. Please determine the number of cycles that it would take under the following conditions: 

a) With no forwarding hardware.

b) With forwarding and one delayed slot for both branch and jump.

Loop:
add $t1,$s3,$s3

add $t1,$t1,$t1

add $t1,$t1,$s6

lw  $t0,0($t1)

bne $t0,$s5,exit

add $s3,$s3,$s4

j   Loop

exit:
add $t3,$t0,$s3


	add $t1,$s3,$s3

	add $t1,$t1,$t1

	add $t1,$t1,$s6

	lw  $t0,0($t1)

	bez $t0,exit

	add $s3,$s3,$s4

	j   Loop

	



	add $t1,$s3,$s3

	add $t1,$t1,$t1

	add $t1,$t1,$s6

	lw  $t0,0($t1)

	bez $t0,exit

	add $s3,$s3,$s4

	j   Loop

	


